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Match #4


These questions are for use in the Virginia High School League’s Scholastic Bowl Region competition. Shawn Pickrell, Jason Mueller, and Dan Goff are the authors of these questions; further editing was done by Adam Fine and Marian Suter.

Regions must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL Region champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your Region’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
In his ‘Last Little Song,’ this character ‘came home’ and proclaimed it was his ‘great day.’ Once obsessed with horse-drawn caravans, he was run off the road by a motor car, and made that his new obsession. He was arrested for stealing a motor car, and sent to prison, but he escaped while dressed as a washer-amphibian. He then regained his Hall from the clutches of the weasels with the assistance of Badger, Rat, and Mole. Who was this character in The Wind in the Willows? 

ANSWER: Mr. Toad
2.
His songs such as ‘He Hit Me (And It Felt Like a Kiss)’ didn’t go over well; he also co-write ‘You’ve Lost That Lovin’ Feelin.’ John Lennon’s ‘Instant Karma!’ and George Harrison’s ‘My Sweet Lord’ were part of his 1970s comeback, which also included aiming a gun at Leonard Cohen and Dee Dee Ramone to get the sound he wanted. In the 1960s, he married the lead singer of the Ronettes and originated the ‘Wall of Sound’ production technique. Who is on trial for the murder of actress Lana Clarkson?

ANSWER: (Harvey) Phil Spector
3.
In 1966, its headquarters had to be moved from Paris to Mons, Belgium. In 1994, it founded the Partnership for Peace and engaged in its first-ever military action when it enforced a no-fly zone over Bosnia. In 2003, it took control of the International Security Assistance Force in Afghanistan, its first-ever mission outside of Europe. What military alliance was formed in 1949 to counter potential Soviet domination of Europe? 

ANSWER: NATO or North Atlantic Treaty Organization
4.
One of the movies he directed, The Other Side of the Wind, will be released in 2008 if legal issues are resolved. He won the 1952 Palme d’Or at Cannes (kahn) for Othello. In 1947, he left for Europe after the failure of It’s All True and The Magnificent Ambersons. He was also accused of being a Communist by William Hearst. Who made the October 1938 radio broadcast of War of the Worlds and directed Citizen Kane? 
ANSWER: Orson Welles
5.
Its flat and hemorrhagic types were especially fatal. Despite being no picnic, it was still considered less severe than syphilis. Caused by the Variola virus, it killed Anne of Cleves, but Joseph Stalin and Abraham Lincoln survived it.  Although it currently exists only in the stocks of the CDC and a Russian center, U.S. troops are still vaccinated against it.  Name this disease that was declared eradicated in 1977.

ANSWER: smallpox
6.
Around 1990, it offered an all-you-can-eat buffet called the ‘Superbar.’ In 1995, it bought out Tim Horton’s, a Canadian doughnut shop. In March 2007, it closed its initial location, which had opened in 1969, in Columbus, Ohio. It also eliminated the Frescata sandwiches and started a breakfast menu. The slogan ‘Where’s the beef?’ is associated with what fast-food chain that founder Dave Thomas named for his daughter? 

ANSWER: Wendy’s
7.
For a mathematician, it means to draw a graph given points on the graph. It is a verb meaning to chart a course for a ship or plane. It means to devise a plan in secret, most often an evil plan. It refers to a small piece of land, especially in reference to gardening or cemeteries. What is this word that starts with ‘P’? 

ANSWER: plot
8.
To ensure passage of this bill, then Senate majority leader Mike Mansfield bypassed the Judiciary Committee. Virginia Congressman Howard Smith stalled it in the House Rules Committee, but then added ‘sex’ to Title VII of this bill. Barry Goldwater opposed it, claiming, ‘You can’t legislate morality,’ and went on to defeat in that year’s Presidential election. What landmark legislation abolished segregation? 

ANSWER: Civil Rights Act of 1964 (accept ‘Law’ and other synonyms in place of ‘Act,’ and prompt on partial answers) 
9.
They were first mentioned in the short story ‘Runaround.’ Their creator made them because he was sick of science fiction following the Frankenstein model, where the creation destroys the creator. The zeroth law was added later and forbids the harming of humanity. The first of these three principles states the affected beings ‘may not injure a human being or, through inaction, allow a human being to come to harm.’ What are these creations of Isaac Asimov that govern the conduct of positronic beings? 

ANSWER: Three Laws of Robotics
10.
The Tug Hill plateau in upstate New York is perhaps the worst American victim of this weather phenomenon. It is caused when cold air flows across a relatively warmer body of water, picking up water vapor, which then freezes when it hits land on the other side. When the body of water freezes, this can no longer occur. What weather phenomenon causes Syracuse, New York, to get over 100 inches of snow a year?

ANSWER: lake effect snow
11.
This city’s 199 neighborhoods include Ballantyne and Biddleville. Its suburbs include Gastonia, Carrabus, Salisbury, and Rock Hill. It is the fastest-growing city on the East Coast due to its large number of Fortune 500 companies, including Family Dollar, Nucor, Duke Energy, Wachovia, and Bank of America. What ‘Queen City’ is located in Mecklenberg County, North Carolina, and is the largest city in that state? 

ANSWER: Charlotte, North Carolina

12.
THIS IS A COMPUTATION QUESTION. What is the greatest common factor of 90 and 420, given that the prime factorization of 90 is 2, 3, 3, 5 and the prime factorization of 420 is 2, 2, 3, 5, 7?

ANSWER: 30
13.
This book concludes, ‘I am moved to confess … the mass of my memories of the excursion have grown more and more pleasant.’ It begins: ‘This book is a record of a pleasure trip … I offer no apologies for any departure from the usual style of travel-writing that may be charged against me.’ The author sails on the Quaker City and goes through Europe and the Holy Land. The New Pilgrims’ Progress is the subtitle of what travel work by Mark Twain? 

ANSWER: The Innocents Abroad: The New Pilgrims’ Progress
14.
To implement, you first pick a random number in the list that is called the pivot. Re-ordering is then done, so that all elements smaller come before the pivot, and large come after. Recursion is then used to finish sorting the list of data. Name this speedy sorting algorithm.

ANSWER: Quicksort
15.
This painting was analyzed in the Leo Steinberg essay ‘The Philsophical Brothel.’ Early sketches also included a sailor and a medical student, in addition to the five women who are in the painting. The woman standing on the right appears to be wearing an African tribal mask, and the figure seated on the right has her face painted in nearly a Cubist style. What is this Pablo Picasso painting? 

ANSWER: Les Demoiselles d’Avignon (lay deh-mwah-zel dah-veen-yohn) or The Young Ladies of Avignon
Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
THIS IS A COMPUTATION QUESTION. What is the probability of rolling a 3 on a fair pair of dice?

ANSWER: 1/18
1B.
What native of Rockbridge County, Virginia, is the only person to have been governor of two different states – Tennessee and Texas – as well as serving as the first President of Texas? 

ANSWER: Sam Houston
2A.
Carol Milford learns to live in Gopher Prairie, Minnesota, in what novel by Sinclair Lewis?

ANSWER: Main Street
2B.
Geologic eras, such as the Mesozoic and Cenozoic, are themselves part of what even larger unit of geologic time, such as the Phanerozoic (fah-neh-ROH-zoy-ik)? 

ANSWER: geologic eon(s)
3A.
The Iowa state quarter pictures a design by what artist, probably best-known for painting American Gothic? 

ANSWER: Grant Wood
3B.
What word, as a noun, refers to the ring of rubber placed around a wheel or, as a verb, means to become exhausted from great effort? 

ANSWER: tire
4A.
A normal human has how many lumbar vertebrae?

ANSWER: five
4B.
In December 2007, what Colorado congressman noted for his focus on illegal immigration dropped out of the race for the Republican presidential nomination?

ANSWER: Tom Tancredo
5A.
This college awards the John Dos Passos Prize for Literature and is the home to four national sororities. What is this college in Farmville, Virginia? 

ANSWER: Longwood University (accept ‘Longwood College’)
5B.
THIS IS A COMPUTATION QUESTION. How many pints are in six gallons?

ANSWER: 48 pints

6A.
W and Z bosons are the field particles for what force of nature?

ANSWER: weak nuclear force

6B.
Once known as Silicon & Synapse, this company will merge with Activision. What video game company produces the Warcraft and Diablo series?


ANSWER: Blizzard Entertainment

7A.
Who moved his People’s Temple from San Francisco to Guyana, and then ordered his followers to commit suicide on November 18, 1978?

ANSWER: Jim Jones (prompt on “Jones”)

7B.
THIS IS A COMPUTATION QUESTION. What is the area of an equilateral triangle with side length 6 feet?

ANSWER: 9 square root of 3 square feet
8A.
THIS IS A COMPUTATION QUESTION. Solve for x.  x squared minus 16x plus 63 equals zero.

ANSWER: x equals seven and nine (can be said in either order)
8B.
Frederick Muhlenberg was the first person to hold what position that was later held by Sam Rayburn, Henry Clay, Tip O’Neill, and Newt Gingrich? 

ANSWER: Speaker of the House
9A.
Write down the following sentence. (Quizmaster: speak slowly) Who will take you to the prom? (Quizmaster: speak normally) What are the pronouns in that sentence?

ANSWER: who and you
9B.
Clym Yeobright and Eustacia Vye live on Egdon Heath in what Thomas Hardy novel?

ANSWER: The Return of the Native
10A.
In 1879, the battle of Ulundi marked the British conquest of what independent nation in southern Africa? 

ANSWER: Zululand
10B.
What researcher working at the Tuskegee Institute created over 100 products from peanuts? 

ANSWER: George Washington Carver
Third period, 15 toss-ups, 10 points each

1.
Consisting of the Taxidiinae (tak-sih-dih-NYE), Mellivorinae (mel-lee-vor-ih-NYE), and Melinae (meh-lih-NYE) subfamilies of the Mustelidae (moo-STEL-lih-dye) family, they are closely related to ferrets, weasels, and otters.  Their main types are known as Eurasian, American, and Ratel.  Name this carnivorous mammal.

ANSWER: badger
2.
 He was removed as Secretary of State when Concino (KAWN-chee-noh) Concini (KAWN-chee-nee) was assassinated. He negotiated the Treaty of Angoulême (awn-goo-LEM) with Marie de Médicis (may-dee-SEE), whom he later exiled, and was restored to power. He entered the Thirty Years’ War on the side of Protestant Sweden, and at the Siege of La Rochelle defeated rebellious Huguenots. Cardinal Jules Mazarin (mah-zah-RAN) was the successor to what church leader that was the chief advisor to Louis XIII?


ANSWER: Cardinal Armand Jean du Plessis de Richelieu (rih-sheh-LOO)

3.
Its Primary Years and Middle Years Programmes were established in 1994 and 1997, although most high schoolers are familiar with its Diploma Programme or with its Certificates awarded in individual subjects. Getting the Diploma requires passing 6 classes, doing community service, and taking a Theory of Knowledge class. Its exams are given in May and extend over two or three days. What educational program, like the Advanced Placement program, allows students to acquire college credit? 

ANSWER: International Baccalaureate or IB
4.
This novel ran in Young Folks magazine between October 1881 and January 1882. The publisher lost the initial map the author had included with this novel’s manuscript. Its action starts when the blind Pew visits the Admiral Benbow Inn, and gives the Black Spot to Billy Bones. The narrator gets Dr. Livesey and Squire Trelawney to help him outfit a ship, the Hispaniola. What novel by Robert Louis Stevenson includes the narrator, Jim Hawkins, and the treacherous cook, Long John Silver? 

ANSWER: Treasure Island
5.
The number required for one comes from either the number of spies that gave a negative report on the Holy Land, or the number of brothers Isaac sent to Egypt looking for food. Non-Orthodox groups believe women over the age of twelve can help fulfill one, while Orthodox Jews generally believe only men over the age of thirteen qualify. A ‘proper’ Kaddish, Priestly Blessing, or Torah reading requires what minimum quorum of ten adult Jews? 

ANSWER: minyan(im)
6.
THIS IS A COMPUTATION QUESTION. What is the molar mass of caffeine, given that its molecular formula is C8H10N4O2 and that carbon’s atomic mass is 12, hydrogen’s atomic mass is 1, nitrogen’s atomic mass is 14, and oxygen’s atomic mass is 16?

ANSWER: 194
7.
Their problems may have started when La Salle District Attorney J. Reed Walters said: ‘With the stroke of a pen I can make life miserable on you or ruin your life.’ They are currently awaiting trial for the beating of Justin Barker. One of them, Mychal (my-kull) Bell, pleaded guilty in December of aggravated battery, although he had been charged with attempted murder. The largest civil rights-related demonstrations in decades were over the case of what Black teenagers in rural Louisiana?

ANSWER: Jena Six
8.
He was Master of the Horse between 47 and 46 BC, but Rome erupted in riots. He offered Caesar a diadem during the Lupercalia of 44 BC, but Caesar refused this. Although he initially offered Caesar’s assassins a truce, his funeral oration turned public opinion against the assassins. The final breach with Rome came with the Donations of Alexandria, an act which caused the Second Triumvirate to fall apart. The battle of Actium brought an end to the power of what lover of Cleopatra? 

ANSWER: Marcus Antonius or Marc Antony (Anthony)

9.
THIS IS A COMPUTATION QUESTION. What is the circumference of a circle with an area of 225 pi square meters, remembering that area equals pi r squared and circumference equals 2 pi r?

ANSWER: 30 pi meters
10.
Most of this language’s speakers use ter (tair) as a helping verb in some tenses, and use the gerund in the present progressive. Speakers from the “mother country” use haver (ah-vair) and the infinitive instead. Other places it is spoken include East Timor, Macao, and Mozambique, but most of this Romance language’s speakers live in Brazil. What is this language spoken in a country bordering Spain? 

ANSWER: Portuguese
11.
It is equal to the Boltzmann constant times Avogadro’s number. It is used in the Lorentz-Lorenz formula and the Nernst equation.  Name this physical constant whose value is equal to 1.987 calories per Kelvin per mole or 8.314472 joules per Kelvin per mole and whose symbol is R.

ANSWER: gas constant (also accept universal gas constant or ideal gas constant)

12.
Originally, he was seen as the father of Nefertum, an incarnation of Atum. Later on, he was paired with Sekhmet, the war goddess. But, by the Middle Kingdom, his role was merged with that of Seker, the god of craftsmen, and then by Osiris, the deity of the underworld. In early Egyptian myth, what god, unusual for not having an animal head, opened his mouth and created the world? 

ANSWER: Ptah
13.
A rebellion led by Robert Wilcox failed to restore her monarchy. She tried to reverse the Bayonet Constitution, but Western elites feared American trade preferences under the McKinley Tariff would be themselves reversed. So, she was overthrown in a coup led by Lorrin Thurston. Grover Cleveland offered to restore her to the throne provided she offer amnesty, but she refused, and so a republic led by Sanford Dole was established. Who was this last monarch of an independent Hawai’i? 


ANSWER: Lydia Liliu’okalani (lee-lee-oo-oh-kah-lah-nee) Paki or Lydia Kamaka’eha
14.
Its inner posterior side lies against Bruch’s membrane and it consists of the pars plana, choroid, ciliary body, and iris.  It functions in nutrition, gas exchange, and light absorption, and is located between the fibrous tunic and the retina.  Name this pigmented middle layer of the eye that is also known as the vascular tunic. 

ANSWER: uvea
15.
This woman, who introduced the Akita dog breed to the US, started her education when her mother read about Laura Bridgman. An early biography of hers was told in the 1919 silent movie, Deliverance. This included her landmark 1904 graduation from Radcliffe College and attending the Perkins School in 1888. She was featured on the Alabama state quarter. The play The Miracle Worker was about Anne Sullivan and what deaf-blind woman? 

ANSWER: Helen Keller
Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
Along with the rumba, it is in both the International Latin and American Rhythm ballroom dance programs. Cuban composer Enrique Jorrín (hoh-REEN) wrote the first music with this name in the early 1950s. The dance of this name was introduced to Europe by Pierre Lavelle, who found Cubans were dancing the mambo in triple step instead of a slow step. What is this onomatopoetic (on-uh-mat-uh-poh-ET-ik) dance? 

ANSWER: cha-cha-cha

2.
His mother used magic to disguise herself as Guinevere; when this trickery was discovered, his father left and he was raised at a nunnery. When he appeared at King Arthur’s court, he walked right up and sat in the Siege Perilous – and survived. What illegitimate son of Lancelot and Elaine of Carbonek was, along with Bors and Percival, a drinker from the Holy Grail? 

ANSWER: Sir Galahad
3.
Before becoming President, he was the minister to the Netherlands, Prussia, Russia, and Great Britain. After leaving office, he represented Massachusetts in the U.S. House until his 1848 death. He was Secretary of State between 1817 and 1825 under his predecessor, James Monroe, becoming President as a result of the ‘corrupt bargain’ of 1824. Who was, until 2000, the only son of a President to be President himself? 

ANSWER: John Quincy Adams (prompt on “Adams”)

4.
With a value of just under seventy factorial, it is officially known by its short scale name of ten duotrigintillion (doo-oh-TRY-jin-till-yun).  However, its commonly known name was coined by Milton Sirotta, the nine-year-old nephew of Edward Kasner.  Name this term for the number one followed by one hundred zeros.


ANSWER: googol
5.
Depending on the type, it can require twenty-six, eleven, or ten space-time dimensions.  So far, it has no predictive power and may not be falsifiable.  Forms of it include bosonic, M-theory, and super.  Name this physics model that uses vibrating one-dimensional objects instead of zero-dimensional point particles and is a possible theory of everything.

ANSWER: string theory
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